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P (L0) = A D B = = B M 2 O
0.000...0.004 | 0.001064 42| 31 097 015 021 057 17 19 0.09 045
0.004...0.008 | 0.000950 41| 33 11 0.08 010 038 18 1.0 0.09 0.34
0.008...0.012 | 0.000788 44| 37 11 011 012 030 19 11 011 0.25
0.012...0.016 | 0.000668 48| 41 12 059 012 034 19 1.0 014 0.19
0.016...0.020 | 0.000655 48| 41 13 023 012 056 18 0.71 0.14 0.06
0.020...0.024 | 0.000582 52| 45 15 022 013 068 1.8 094 0.08 043
0.024...0.029 | 0.000540 51| 43 14 011 016 033 19 12 012 044
0.029...0.034 | 0.000464 56| 48 15 021 018 032 19 15 0.09 0.07
0.034...0.045 | 0.000434 45| 35 12 005 019 080 18 16 0.05 0.32
0.045...0.057 | 0.000379 50| 39 14 007 027 057 18 19 0.13 0.06
0.057...0.072 | 0.000299 56| 45 15 017 036 049 18 24 033 031
0.072...0.091 | 0.000295 56 | 45 16 012 035 099 17 22 020 032
0.091...0.114 | 0.000256 65| 50 18 011 044 12 1.8 30 021 0.05
0.114...0.165 | 0.000225 67| 46 16 005 063 09 17 40 072 090
0.165...0.258 | 0.000188 731 52 17 009 070 17 16 41 079 0.36
0.258...0.524 | 0.000157 71| 53 20 002 054 19 15 34 034 097
0.524...1.153 | 0.0000845 12 10 32 011 064 16 13 4.0 024 033
1.153...3.277 | 0.000108 17 15 6.7 093 046 32 23 27 048 0.89



